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AUTO AN Vi

(1) Question No.1 is compulsory.

(2) Attempt any three questions out of the remaining five,
(3) Assume suitable data if necessary but justify the samg.
(4)Figures to the right indicate full marks. OF

Attempt any four.

A. Solve the following L.P. problem using ahicalmet 0

Maximise Z = 2x +3x,
‘Subjectto, x +x, <30
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day. If the type writer is valued at Rs. 30 per hour, det-efxﬁi‘né_.}ﬁ i;

E. Write a note on resource leveling.
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Q 2. A. A project duration has following ch_aI:"

Activity

to (weeks)
tm (Weeks)
tp (weeks)

Fmd the project
(10)

Construct a PERT networ_k Fmd crltl I 1 ﬁath and

- A it Ff'i'l\.

I'ity

(10)

lo not .lget
~- be s'éle_cted as per Hurwicz criterion with a = 0. 57

Id bg selectéd as per Laplace criterion?
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Q4. A. Solve the following L.P. problem using Big-M method.

Maximise z = -2x - x, L I

3

subject to, 3z * K,

4x, +3x, 26 RS o7

xl+2x2$4

where B % >0

.....

bought on very good terms from a: subeentracfor but 1s mt

Fi

cost of Rs. 50 per subassembly It 15 ndt hewever, pes s

on delivery. The subassemblies can b___e readJusted en deth_; ___::

subas semblles that need ad J ustment j <

.........

per subassembly testecl Past eXperlenee_ s&ows
defective; the probability of the test indicating a
faulty is 0.8, whlle the pi‘&bﬂlty that the

........

subsequent reetlﬁeatien wﬂl be Rs :I-"' 0.
Draw up an appreprlate deelslf'
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Q3. A Rmd the eptlmum solu
represent un 1t co sts L
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th e alternathES open to the purchaser
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4-7

5-7

6-7
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Q5. A. Solve the following (2 x 3) game graphically.

Player B
Playe. 1 1 11
{ |

B. Solve the following game using dominance princi
C. Explain the various 50
6. A. Solve the folloﬁlﬁg
M axim 1se,
F o B ollowing probabilities of selling the sandwiches in a day.
M Rs. 12 and sales price is Rs. 20. He cannot sell the unsold
FESY get perished. How many sandwiches he should make? (6)
gl of%andwiches sold Probabilities

A2 |
16 |

28
3

& & 50O

' latxo 9 List its various advantages & applications of the simulation.
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